Multiply and Divide by 100 (D)

Find each product or quotient.

3.236 X 100 = 8.306 -~ 100 =
7.51 X 100 = 6.6355 =+ 100 =
0x100= 5.039 - 100 =
1.09 - 100 = 8.1724 - 100 =
1.33 X100 = 9.175 X 100 =
1.3 x 100 = 9.6051 - 100 =
48+ 100 = 8.482 +~ 100 =
1.697 X 100 = 0.4 x 100 =

6 X 100 = 9.16 X 100 =

9 x100 = 2.5494 x 100 =
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Multiply and Divide by 100 (D) Answers

Find each product or quotient.

3.236 X 100 = 323.6 8.306 = 100 = 0.08306
7.51 x 100 =751 6.6355 +~ 100 = 0.066355
0x100=0 5.039 =100 = 0.05039
1.09 =100 =0.0109 8.1724 - 100 = 0.081724
1.33 x 100 =133 9.175 x 100 =917.5

1.3 x100=130 9.6051 +- 100 = 0.096051
4.8 +100=0.048 8.482 + 100 = 0.08482
1.697 x 100 = 169.7 0.4 x100=40

6 X 100 =600 9.16 X 100 =916

9 x100=900 2.5494 x 100 = 254.94
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